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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 2nd Semester Examination, 2023

DSC1/2/3-P2-ECONOMICS

MACROECONOMICS
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

GROUP-A / - / Gg-a

1. Answer any four questions: 3x4=12
Q- DA 2T Ted wies
P1 IRICT THED] IR e8]

(a) Define Gross Domestic Product (GDP).
Gross Domestic Product (GDP)-4g e nl€ |
PeT BRG] IcUTEeD! TR eI |

(b) What do you mean by Price Index?

VPGS 100 F (I 2

Hed GADID FTTel b 36 ?

(c) Define Say’s Law of Market.
1’3 e [ o
-1 FARDT I IR TR |
(d) Show that MPC+MPS=1.
e @ MPC+MPS=1.
MPC+MPS=1 §® %l SESTERN |

(e) Define Marginal Propensity to Consume (MPC).
2lifess (ool eere (MPC) FiResl WS |
SYHTDT AT TgRT g1 Ta R |

(f) Define inflation.

JErFIfes e wie)
HoRIfT IRT B |
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GROUP-B / fRein-2 / &g @

Answer any four questions
F-CF 5115 eTsE Ted s
gﬁ YRICT THE0P! TN f%ﬂ’a?RTo {

Discuss the main difficulties in measuring national income.
ISR O Ao @i SPIRa e S 41
RIS T AU T T BHiS18e% aa T8 |

Distinguish between Fisher’s version and Cambridge version of quantity theory
of money.

wda ~AfRETered FNER O (Fisher’s version) @ (& SIGA (Cambridge
version) TC4J 2N SNCEB F41

HGTeT UINHTOT RIGTIehT {CheRepT HRARUT 311+ FRATIESIoT FEhRUT HTSTehT =TT ST T8 |

Explain classical theory of output and employment.

RIS TesAme Gk feaeregfS snetv=t <
TS 31 SR AT RIS ST T8 T |

What is multiplier? Explain it with the help of a suitable example.
‘@i’ F 9 Toige TriRACei AR 2R A 4|
TUIeh Fep! b & ? IUGth ISTERUID] FETIcITel TS SRS T8I |

Explain Loanable Funds theory of rate of interest.

AR A9 O Ol It |
SATST ST KUY Iy RIGHTT IR THEI |

What do you mean by ‘inflationary gap’? Explain with a suitable diagram.
“ErRIfeR T IS [ @Rl 9 T7e orad A= 15 791
HEREHITTT SIRTST HTel & 0 ? IWRIh YT IAD] AeIIel FRAT TRl |

GROUP-C / fqont-a / &g -1
Answer any fwo questions
- }fﬁ? oTed Ted wie
7t giaer v IR R

8. (a) Distinguish between GNP and NNP.

2030

GNP 8 NNP-&3 (4 #1195 5411
GNP 37 NNP-HTST Ureferdy T |

6x4 =24

2+4

2+4

12x2 =24

6+6
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(b)

10.(a)

(b)

11.(a)

(b)

2030

“Balance of Payments always Balances” — Explain.

“Balance of Payments always Balances” — <JJ1 <<
“YhT FeT A T g8 IR T8I |

What is meant by the term ‘Value of Money’? How is the value of money 4+8
measured?

SR T S 9 IR FOIE 22 2AR FA 2 9
HGTP! HIT WAl P o6 ? JRTDT AT HIT BT TRTS ?

How is the equilibrium rate of interest determined in the liquidity preference 8+4
theory?

T AW OGSO ST H0wd 7 ffifr =21 ¢

R TORICTenT RAGRIT=CTHT STST SRebT FAreef s HERUT 576 2
What are the shortcomings of the theory?

42 Orgs ol Trae T

I RIGET=TehT HHINIERS P b G ?

Distinguish between demand-pull inflation and cost-push inflation. 6+6
BifEw! Jfaw e © A7 Ifasiee JurRifes e g 32

ST JEREIfT ST ST S JeRebifcraTsT ureferdy {81 |

Discuss the various anti-inflationary measures.

TJAPFITS et Yo R[S SNCH= F41

=T gerehifer Rl SuTTe® IR wefthel T |
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